Pythagorean triplets (UTSYTTITRaA

fawSiar):

9,40, 41
11, 60, 61
12, 35, 37
20, 21, 29
33, 56, 65

28, 45, 53
39, 80, 89
13, 84, 85
48, 55, 73
15, 112, 113
20, 99, 101
65, 72, 97
36, 77, 85




I.If the circumcenter of a triangle lies outside it,
then the triangle is

a) Equilateral b) Acute angled

c) Right angled ,,d’)’Obtuse angled
IR Rt Beer 1 aREFe 39 Bser &
Y & ar feger &

a) HAETE b) =gsT HIUT FAs1=T

c) WHPIOT }mﬁ?aﬂwﬁaﬁ
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2 .If the lengths of three sides of
on J'N- W%’f MJL triangle are 6cm, 8cm and
‘\:ﬁcm, then the length of the
A smallest median/of triangle is
R Thdl [Ader @ e

\0 .
o3t N FFAE 6cm, 8cm
m 6 5 & ﬁTlOcm%a’fﬁ'ﬂiﬁaﬁ'
—_ Hed B Aftawr A oFars
R Q ——C_ AT F

A a)8 b) 6
“ A5 d) 4.8
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N VAN
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2. The sides of a triangle are 11 cm,
60 cm and 61 cm. What is the
radius of the circle circumscribing

6,’ the triangle?
2 6] vE B @ e 11 @,
I 60 T TUT 61cm B| BT F1
uRad s ar ga A e
T 87
a)31.5cm 31cm
c)30cm 430.5 cm
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U.The sides of a triangle are
12cm,35cm and 37cm. What is
the circumradius of the triangle?

2 T BT iy m 12 |+, 35
- 7 e, sikv 37 [ B ﬁraﬁr C)
oRE=ar Fr 2
Iz a) 19cm 17.5cm
" c)17cm d) 18.5cm
S
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5. The sides of a triangle are
28|MS‘55"’ 072]%“ mfﬂd_ é%cm 96 cm and 1%% cm. The

'-v circumference of its circumcircle

is:
o R fqr ee
56cm, 90cm k’ing 106cm |

QN7 s aRge & aRAY &
NG \/ A 106 b) 109 7
06 c)108m d112




6.The sides of AABC are

. 10 cm,10.5 d 14.5cm.
T"Fw Ve cm cm an cm

What is the radius of its
QO 2[ 29 circumcircle?

AABC @1 8fat@ 10 ¥ 10.5

A 3k 145 A ¥ =@
£=h_ 4§ TR F Bewr & d@a w7

E{— — aﬁﬁﬂq
/7.25 cm b)5.25 cm
c)7.5cm d)5cm
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7.In AABC,2ZA =90°, M is the mid

point of BC and D is a point on BC
‘ T42Y= 19(49)3 \ such that AD L BC. If AB =7 cm and

D 25 AC = 24 cmthen AD:AM is equal
LY) to:

7 \ AABC #, 2A=90°M, BC T
Eﬁ 7eg AT § 3k D, BC W s T
fig & &% AD LBC® | 3} 4B =
A Y C 7cm 3R AC = 24 cm o

16% AD: AM &1 191 ?

at
ﬁ_g_ _ QY IRL 22¢, a) 168:275 b) 24:25

c) 32:43 336:625

AM  35xa5 €25




8.In a triangle ABC, right angled at B.
AB =18 cm,BC = 24 cm . Find
the length of BG, if G is the
centroid.

FIUT B HAPIT qd TF T
ABC & AB = 18 cm, BC = 24 cm
2] BG &Y aFa1E a1 U PR G

SHHT hegeh g dI?
a) 5 M 10
c) 15 d) 8




Q. In a triangle PQR, 2Q =90°, S
is the midpoint of PR,QS =

a_'.b-_-, 2,0 (D \ \/11.7. Sum of §ides of PQ and
< ’Lﬁq ?r:;.:;:(;)g; find the area of
2 2
Asb= U7 o > fret Besr POR & 2Q = 90°
=Y6e G u7 %saﬁnpRﬂmzrﬁg%
ab=? =117 8| & PQ 3R
I . QRmsn-s'socm%H%raﬁr
8 o R R #T &A% qdT F1]
v 108 b) 216
*¥43ab=9¢p c) 117 d) 234
._) <kb_ ‘1?)?_ —_ a|6

= 10}
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Altitude & perpendicular bisector (% 3R ST THGHTS®):







[0.The vertices of a AABC lie on a circle
with centre O. AO is produced to meet
the circle at the point P. D is a point on
BC such that AD 1 BC. If B = 68° and
£C = 52°, then the measure of ZDAP
is:

AMBC % ofif, 0 &g ad a9 W
Rua 81 Ao & AffiT &= W a7
ga @ fiig P W e 3] Bc W g
D 39 YR & f& AD L BCc #| 3afe
¢B =68° A 2C =52° &, @Y «DAP
T AT AT HI

a) 18° 16°

c)12° d) 28°
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II. APQR is inscribed in a circle with
center O. PO is produced to meet QR
at U and the circle at S, and PT 1
QR, where T lies between Q and U. If
£2Q =170° and 2R = 55°, then what
is the measure (in degrees) of LTPS?

U & @ fieg 7 T 8l =
70° AR LR=755° §, & «TPs #
AT (2=l /) 79 =Y

a) 25 b) 30
15 d) 20

14
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Right angle triangle (9 &10T fA3e):

PAT T imvadint F Ai3e ) Huae JAY ’\
1, or =20t (r + hy= S) I 'L JX
L 2y v
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Right angle triangle (9 &10T fA3e):

#,G,0 st collireal Tn ovom A.

3. Eular's Iine\a wm'd Gcun-
4. Distance between H and | N O( Condr e

T 8
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| The sides of AABC are 10 cm, 10.5cm and

14.5 cm. What is the radius of its circumcircle?
@AABca\?ramﬁ’w ¥AY, 10.59# 3w 14.5

Fl ¥ =wF IR 91 Bew AT Ae?

a)5 b)7.5
c)5.25 A 7.25
Tase, Aot ahe N
") - h M5 _ J\t 9’{)
m KRBT ’Q Z = Q—-7°1S 20 I, 9
. RAT sadus .

| SSCCPO, 11 Dec 2019 S3 19



2. In a triangle PQR, PQ = 16 cm,
QR =63 cm and PR =65 cm,
- }\ then what is the ratio of
o £5 circumradius to inradius?
16 Bt PR, PQ
1= P*b“h 16 cm, QR = 63 cm dYUT PR
65cm g a1 R
) HeT:PASAT FT AT AT
a) 65:7 b) 7: 65
/65: 14 d)14:65




3+ (GYs the centroid of a triangle ABC, whose

sides AB = 35 cm, BC=12cm, and

" C AC = 37 cm. The length of BG is (correct

/7— to one decimal place):

WK 2 NNCL G UH W Bser ABC T Feed @,

I et s " AB=35cm , BC=

\C"\ 12cm, 3 AC=37cm § BG

8 = ﬁﬁm(mma:wvsmaa;a%’r)

j fraeiY 82

o) X w\dm“ a)12.9cm /12. 3cm
c)11.7 cm d)17.5cm
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[,, In AABC,AB =48 cm,BC = 55cm and
A AC =73 cm. If O is the centroid of the

triangle, then the length (in cm) O0f BO
1% (correct to one decimal place) is:
u3 o AABC ®, AB =48 cm,BC =55cm 3R
N AC=73cm 3 I BT &1 Faw
v (centroid) O &, @ BO #Y Fl'EITé' (cm #,
& |55 C_ CUHAd & UF 3 dF Hel) AT HY|
a)25.6}6’24.3 c)20.4 d)18.3
-?Esxw\%/\
-2 _1%_73 |
Sy =2
33T
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b. What is the distance between
\Q;\'b the orthocenter and the

“\Mﬂl/ > circumcenter of a triangle who
n6 sides measure 24 cm,é cm
~ Civcum- and10cm?

gf e’r-'ﬁ
i 24 IR mﬁ sTeTT3it
24 ¥+, 26 A 3ﬁ1 10
Ovho o, 5 Q&2
. < H13 cm b) 12 cm
c) 7.5 cm d) V30 cm




§- In aright angled triangle the sum of

inradius and circumradius is equal
A to thf
a) All the sides of triangle
‘P /EﬂBoth the legs of the triangle
c) Perpendicular and hypotenuse
b d) All the medians of the triangle
UF FHASIOT feger A e Beam
2 IR AR wT AT A A @
h fFad sitaa & sER gen?
Bl B av a) Bersr i Iy =TT F
2 V0 Y b B & et et
c) oFa 3T Fot &
d) gy mfegwiit &

| | 24



# ABC is an isosceles right angle triangle.

= A Angle ABC = 90 degree and AB = 12cm.

| What is the ratio of the radius of the circle

inscribed in it to the radius of the circle
! n.ﬁ’ circumscribing triangle ABC?

\ 12+ ABC UF HHGiaalg WHSPIOT FXrer g
w FT ABC =90 At FA AB =12cm
2 n . a8 Besr ABC ¥ I g@ #r
B T Bear @ 3a% ofera ga # Bear @

L8 ITITT FAT 37

E:M:ﬂ/@'\fz) a)6 V2:3v2 /,%—\/E:\/E
\’ ;‘(5“1\]'2. W )6 —3vVZ:1VZ d)6—3vV2:6v2
h
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§. What is the ratio of inradius to the
circumradius of a right angled triangle?

TS ASIT BAyer & 3a Be

9 3R 75 Prsam F1 e T4 87
P a) 1:2 b) 1:v/2
. c) 2:5 ﬁ'c'an’t be determined

X
R

Y -
X




9. The radius of the circumcirlce of a right angled triangle is 15cm and
the radius of its inscribed circle is 6cm. Find the sides of the triangle

et wEor Berer & aftga 1 Bsar 15em ¢ 3T 30& 3l
aﬁa—cra?raﬁrﬁ—m&maﬁrﬁaﬁrmmam
304041  _A18,24,30

\S 3(30,24,25 y(24,36,zo 'y N
¥ Xz
K15, %6 S=hty Y9
h-20 =36




[o- PQR is a triangle in which
P £QPR =90°,PQ = 24cm, PR =
X 32cm and QA = AR,QT is an
32 angle bisector of ZPQR. Find TA.
oY T PQR wF furer ¥ fowd
20 QPR = 90°, PQ = 24cm, PR =
S \ 32cm 3R QA = AR,QTPQR
2 R &1 ST HHGAHTSF & TA &1
Q 0 A Qp AT AT FI7?

100 140




|l. In aright angled triangle the distance

2, between orthocenter and incenter is
7\67"5/ 2v/2 cm and the semi-perimeter of
W the triangle is 15 cm. Find the

\ ol distance between centroid and

-—

O

,g circumcenter of the triangle.

3 PAorer &1 ek 15cm @&
¥=2. S=15 ﬁaga%maﬁtqﬂwa:aﬁir
o=t grafi?

S=h
o 2 % AT wE a9f  af
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